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Practice Test

Part I Listening Comprehension (20 minutes)

Section A

Directions: In this section you will hear 5 short conversations. At the
end of each conversation, a question will be asked about
what was said. Each conversation and question will be
spoken only once. After each question there will be a
pause. During the pause, you must read the four
suggested answers marked A), B),C) and D), and
decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single
line through the center.

Example: You will hear;
You will read; A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.
From the conversation we know that the two are talking about
. some work they will start at 9 o’clock in the morning and have to
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Sfinish at 2 in the afternoon. 1 herefore, D)“5 hours” is the correct
answer. You must choose answer (D) on the Answer Sheet and mark

it with a single line through the centre.
Sample Answer (AJ (B) (C1 (B)

1. A) Fifty students. C) Twenty-five students.
B) Forty students. D) Fifteen students.
2. A) The woman shouldn’t be so anxious.
B) He’s already an hour late.
C) The woman shouldn’t wait to be interviewed.
D) He’s too nervous to calm down.
3. A) That the man is probably overreacting.
B) That she will set things up.
C) That the man should take better care of himself.
D) That the papers can be turned in now.
4. A) 9:40. B) 7:40. C) 8:20. D) 7:46.
5. A) Only it is always in sight.
B) No, because she asked him to turn it off between problems.
C) He should leave it on the table.
D) No, because he asked for it.

Section B

Directions : In this section you will hear 2 short passages. At the end
of each passage, you will hear some questions. Both the
passage and the questions will be spoken only once. After
you hear one questton, you must choose the best answer
from the four choices marked A), B), C) and D).
Then mark the corresponding letter on the ANSWER
SHEET with a single line through the center.



Passage One
Questions 6 and 7 are based on the passage you have just heard.
6. A) Chinese. B) Italian. C) Spanish. D) German.
7. A) In public schools.

B) In private schools.

C) In community colleges.
D) Both A and C.

Passage Two
Questions 8 to 10 are based on the passage you have just heard.
8. A) the earth’s reaction to the sun
B) the sun heating the earth
C) the winds blowing across the sea
D) the sea’s reaction to the earth
9. A) The air rises above the surface of the water.
B) Little waves are made bigger and bigger.
C) The heat of the sun is reduced.
D) Big waves are made smaller and smaller.
10. A) In 1933. B) In 1934. C) In 1953. D) In 1963.

Section C

Directions : In this section, you will hear a passage of about 200
words three times. The passage is printed on your
Answer Sheet with about 50 words missing. First, vyou
will hear the whole passage from the beginning to the
end just to get a general idea of it. Then, in the second
reading , you will hear a signal indicating the beginning
of a pause a fter each sentence, sometimes two sentences
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or just part of a sentence. During the pause, you mus.
write down the missing words you have just heard in the
corres ponding space on the Answer Sheet. There is also a
different signal indicating the end of the pause. When
you hear this signal , you must get ready for what comes
next from the recording. You can check what you have
written when the passage ts read to you once again
wiethout the pause.

This is America. @D | the Voice of America presents

a close lock at the way people in America live, work and play.
Today 12 who work at home.

3 in factories, in offices and on farms. They

travel each day to jobs in schools, laboratories and in shops. But for

@ people in the United States, the work place is
changing. More and more Americans {9 . Some experts
believe that as many as five million Americans (6 . And

others say that as many as ten million people in the United States

may earn their living at home by the 1990s. @ is one of

the main reasons for this change. Computers are now used in ({8

, in offices, in factories and even on farms. The electronic

devices make it much easier and quicker to . Social
scientists believe that more than €9 involve work with
information.

Section D

Compound Dictation |
Directions: In this section you will hear a passage three times.
During the first reading, you should listen carefully for



a general idea of the whole passage. Then listen to the
passage again. When the first part of the passage is
being read , you should fill in the missing word during
the pause at each blank. After listening to the second
part of the passage you are required to write down the
main points according to what you have just heard.
Finally, when the passage is read the third time you can

check what you have written.

The Technological Revolution

From the of the first stone to today’ s
computers, man has the power to
the world around him. technology in could be
taking over our life,

In business, computers do the job of accountants and

secretaries.

In the future, the most important decision-maker might be the
computer,not the company executive.
In industry, computerized robots have replaced many workers

on factory assembly lines.




The human brain has not changed in size in the past 100,000 years.
However, man was able to invent hand tools, then the steam engine
and now the computer. Man has used his brain to create “intelligent

machines” to do his work for him.

Part I Reading Comprehension (35 minutes)

Directions: T here are 4 reading passages in this part. Each passage
is followed by some questions or unfinished statements.
For each of them there are four choices marked A),B),
C) and D). You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a

single line through the center.

Questions 21 to 25 are based on the following passage :

Telecommuting — substituting the computer for the trip to the
job— has been hailed as a solution to all kinds of problems related to
office work.

For workers it promises freedom from the office, less time
wasted in traffic, and help with child-care conflicts. For
management, telecommuting helps keep high performers on board,
minimizes tardiness and absenteeism by eliminating commuters,
allows periods of solitude for high-concentration tasks, and provides
scheduling flexibility. In some areas, such as Southern California
and Seattle, Washington, local govenments are encouraging
companies to start telecommuting programs in order to reduce rush-
hour congestion and improve air quality.

But these benefits do not come easily. Making a telecommuting
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program work requires careful planning and an understanding of the

differences between telecommuting realities and popular images.

Many workers are seduced by rosy illusions of life as a
telecommuter. A computer programmer from New York City
moves to the tranquil Adirondack Mountains and stays in contact
with her office via computer. A manager comes in to his office three
days a week and works at home the other two. An accountant stays
home to care for her sick child, she hooks up her telephone modern
connections and does office work between calls to the doctor.

These are powerful images, but they are a limited reflection of
reality. Telecommuting workers soon learn that it is almost
impossible to concentrate on work and care for a young child at the
same time. Before a certain age, young children cannot recognize,
much less respect, the necessary boundaries between work and

family. Additional child support is necessary if the parent is to get

any work done.

Management, too, must separate the myth from the reality.
Although the media has paid a great deal of attention to
telecommuting, in most cases it is the employee’ s situation, not the
availability of technology, that precipitates a telecommuting
arrangement.

That is partly why, despite the widespread press coverage, the
number of companies with work-at-home programs or policy

guidelines remains small.

21. What is the main subject of the passage?
A) Business management policies

B) Driving to work



22.

23.

24.

C) Extending the workplace by means of computers

D) Computers for child-care purposes

Which of the following is NOT mentioned as a problem for

office employees?

A) Being restricted to the office

B) Incurring expenses for lunches and clothing

C) Taking care of sick children

D) Driving in heavy traffic

Which of the following is NOT mentioned as a problem for

employers that is potentially solved by telecommuting?

A) Employees’ lateness for work

B) Employees’ absence from work

C) Employees’ need for time alone to work intensively

D) Employees’ conflicts with second jobs

Which of the following does the author mention as a possible

disadvantage of telecommuting?

A) Small children cannot understand the boundaries of work
and play.

B) Computer technology is not advanced enough to accom-

modate the needs of every situation.
C) Electrical malfunctions can destroy a project.
D) The worker often does not have all the needed resources at

home.

25. Which of the following is an example of telecommuting as

described in the passage?
A) A scientist in a laboratory developing plans for a space
station

B) A technical writer sending via computer documents created
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at home
C) A computer technician repairing an office computer network
D) A teacher directing computer-assisted learning in a private

school

Questions 26 to 30 are based on the following passage:

Circle over London, Buenos Aires, Chicago, Sydeny in an
airplane or view the cities schematically by means of an urban map
and block plan. What is the shape of the city and how does it define
itself?

The original container has completely disappeared: the sharp

division between city and country no longer exists. One can pick out

no definite shapes except those formed by nature; one beholds

rather a continuous shapeless mass, here bulging or ridged with

buildings, there broken by a patch of green or an unwinding ribbon

of concrete.

Failing to divide its social chromosomes and split up into new
cells, the city continues to grow inorganically, indeed cancerously,
by a continucus breaking down of old tissues and an overgrowth of
formless new tissues. Here the city has absorbed villages and little
towns, reducing them to place names; there it has, more happily,
left the organs of local government and the vestiges of an
independent life, even assisted their revival; it has nevertheless
enveloped those urban areas in its physical organization and built up
the open land that once served to ensure their identity and integrity.
Sometimes the expanding street system forms an orderly pattern;
sometimes it produces only a crazy network. The difference
between one type of order and another is merely a difference in the
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